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Arithmetic Sequence
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. Durant and Westbrook are playing a three-point challenge game to improve long
distance shooting. Each time each of them makes a basket, 3 points are added to
their respective scores. Durant has 18 points and Westbrook has 12 points.

Which of the following options has the pair of explicit formulas that represents the
number of points for each player as an arithmetic sequence?

X (n-) 2
A Durant: 18 + (n — 1)(3)
(B Durant: 18 — (n — 1)(3)

Westbrook: 12 4+ (n — 1)(3)
Westbrook: 12 = (n — 1)(3)

@ urant: 18 + (n — 3)
0 Durant: 18 + 3n

Westbrook: 12 + (n — 3)
Westbrook: 12 + 3n

2. Ethan is saving money in his piggy bank for his upcoming trip to Disney World. On
the first day, he put in $12 and plans to add seven more dollars each day.

Part A: Write an_explicit formula that can be used to find the amount of money
saved on any given day. "t l"

0= (2 +7(h-1) ’(‘_'77?
Qg = 1ot (1841) [

Part B: How much money will he have on the 18t day?
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2. State whether each sequence s arithmetic and justify your answer. If the sequence
s arithmetic, write a recursive and an explicit formula to represent it.
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8. Biology To thaw a specimen stored at —25°C, the temperature of a refrigeration
tank is raised 5°C every hour. The temperature in the tank after x hours can be

described by the ﬁmc\im

a. Graph the function andfimdT pts.
b. What does each intercept represent? T
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